Seat Frame Attaching Hardware

Adult 16"- 24" Wide

p 7N
B s /N/ 4\v o
N 37 ()
) &/ § o
o formmb O ey
Q \ T 7N
g/ / d M s \\mw/ﬂ ()
\ / 7\ \ \“ \\ \ "
/ ~ /
\ / / \w\ \\ \ ® v
/ T A2

= / /7 \
S F LN\ y 2, Ve
g S A N = 7 ) )] ) (
€y i \ X N 4 \\ o \
s ¥ /S N ~ ~ i/ N /
E 5 N///) \N\N I/ ) ) R (v
N _ Y
SN . [/ NN A A /A /
[T TR \/\x !/ \u\ N\ \ \ ,/ y // @
vy o /// Y7 \\ ;) NN\ / Nmm/ Y/ \\\\\\ —_ o~
> /4 /s

=

v §

€ o

'8 8

/4 / =

S . o 8
[ =8

O

q 8



Seat Frame Attaching Hardware

Adult 16"- 24" Wide

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1043627-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 1-3/4") 1 4
1 B 1070398-NLA | NLA - Screw, Hex Head (5/16-18 x 1-1/2") 1 4
2 A 1070413-NLA | NLA - Spacer (21/64 x 1/2 x 17/64") 1 4
3 1043627-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 1-3/4") 1 4
4 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 12
5 1070388 Support, Seat, Black 1 2
6 1069724 T-Nut (5/16-18) 1 5
7 1070462-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 7/8") 1 4
8 1026158 Locknut (5/16-18) 1 4
9 1070396-NLA | NLA - Strap, Bolt, Black 1 2
10 D 1070343-NLA | NLA - Plate, Seat Mounting Low, Right 1 2
10 D 1070344-NLA | NLA - Plate, Seat Mounting Low, Left 1 2
10 E 1070345-NLA | NLA - Plate, Seat Mounting Medium, Right 1 2
10 E 1070346-NLA | NLA - Plate, Seat Mounting Medium, Left 1 2
10 F 1070347-NLA | NLA - Plate, Seat Mounting Tall, Right 1 2
10 F 1070348-NLA | NLA - Plate, Seat Mounting Tall, Left 1 2
11 C 1093314-NLA | NLA - Hardware, Attaching, Seat Frame (16" W) 1 1
11 C 1093311-NLA | NLA - Hardware, Attaching, Seat Frame (17" and 1 1
Wider)
NOTE: A -Part# 1043627 and 1070413 are used on the 16" wide chairs only.

B - Part # 1070398 is used on 17" and wider chairs only.

C - Item number 10 not included in seat frame attaching hardware.

D - 18-1/4" Seat to Floor

E - 20-1/2" Seat to Floor

F - 21-3/4" Seat to Floor




